Division par 1 000 (B)

Trouvez chaque quotient.

59 +-1000 = 13+1000 =
53+1000= 69 =~ 1000 =
67 +1000 = 79 +-1000 =
68 +~1000 = 85-+1000=
16 +1000 = 45 +-1000 =
22+1000= 25-+1000=
18 +-1000 = 44 +-1000 =
10+1000 = 88 +1000=
32+1000= 18 +1000 =
19+1000 = 35+-1000=
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Division par 1 000 (B) Solutions

59 +-1000=0,059

53+1000=0,053

67 +-1000=0,067

68 +~1000=0,068

16 +1000=0,016

22+1000=0,022

18 +1000=0,018

10+1000=0,01

32+1000=0,032

19+1000=0,019

Trouvez chaque quotient.

13+1000=0,013

69 +~ 1000 = 0,069

79 +-1000=0,079

85-+1000=0,085

45+ 1000 = 0,045

25-+1000=0,025

44 - 1000 =0,044

88 +1000=0,088

18 +1000=0,018

35+1000=0,035
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